
Lesson #16-  Test Tuesday  
Cw.   page 3,4 of packet. My big FTC problem-   

HW/  Mr leckie review #1-4 (on ch 6 homework page) 

 

 

1    𝐴(𝑡) = 12𝑡 − 18 ,   𝑎𝑡 𝑡 = 1 𝑡ℎ𝑒 𝑣𝑒𝑙𝑜𝑐𝑖𝑡𝑦 𝑖𝑠 𝑣(1) = 0  
 

a. Find the velocity expression  

 

 

b. Set up, but do not evaluate the integral expression that will find the displacement of the 

particle on the interval [0,3] 

 

 

 

c.        Set up, but do not evaluate the integral expression that will find the total distance travelled 

by the particle on the interval [0,3] 

 

 

 

d. Set up, but do not evaluate the integral expression that will give you the average velocity of 

the particle. [0,3] 

 

 

 

 


